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(. (& () A Company is planning to buy a machine costing ¥ 3,60,000. The life of

(ii)

machine is 5 years and its salvage value at the end of life is nil. The
machine will produce the net operating income after depreciation of

Z 68,000 p.a. The company's tax rate is 45%. The net present value factors
for 5 years are as under : 7

Discounting Rate | 14 15 16 17 | 18
Annuity factor 343 | 3.35 | 3.27 | 3.20 | 3.13
You are required to calculate Internal Rate of Return of the proposal.

A company is considering selecting a machirie out of two machines namely
A & B. The cost of Machine-A is ¥ 1,35,000 and Machine-B is ¥ 2,40,000.
There will be no scrap value at the end of life of both machines. The cost of

capital is 16%. The annual cash flows are as under : 7
[ Year | Machine—A | Machine - B _| Discounting factor @ 16% |
1 - 60,000 0.862
2 30,000 84,000 0.743
3 -1,32,000 96,000 0.641
4 24,000 1,02,000 0.552
5 84,000 90,000 0.476
Calculate :

(1) Discounted Pay-back period.
(2) Net Present Value.
(3) Profitability Index.

. OR

(a) K Ltd. is considering investing in a project. The expected investment in project
will be Z 2,00,000. The life of praject will be 5 years with no salvage value. The

MO-152

expected net cash inflow after depreciation but before tax will be as under : 14

Year 1 2 3 4 5
3 85,000 | 1,00,000 80.000}80.000‘ 40,000

The cost of capital is 10% and tax rate is 30%. .« -
Calculate : (1) Pay-back period.

(2) Average Rate of Return,
(3) Net present value.
(4) Intemnal Rate of Return.
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The present value factors of T 1 are as follows :

Year 10% 37% 38% 40%
I 0.909 0.730 0725 | 0.714
2 0.826 0.533 0.525 | 0.510
3 0.751 0.389 0.381 0.364
B 0.683 0.284 0.276 | 0.260
5 0.621 0.207 0.200 | 0.186

(b) Choose the correct option : 4
(1) Internal Rate of Return is always greater than cost of capital.
(a) True (b) False

(2) Which of the following indicate cash flow ?
(a) Profit after taxes
(b) Pr;:ﬁt before tax — depreciation
(c) Profit after tax + depreciation
(d) None of the above
(3) Under which method, cash flow of each year is re-invested ?
(a) Net Present value (b) Pay-back period
(c) Intermal Rate of Return (d) Terminal value
(4) Lower the discount Rate, the present value..

(a) higher (b) lower (¢) no relation

2. a) Attempt two :
(a) empt any two 14

(i)  From the following information, state which project is better if certainty

equivalent method is used.

Yésrmad Project - A Project - B
Cashflow®) | CE. | Cashflow(?) | CE.
0 - 10,000 - -10000 | _
I 4,000 0.90 s000 | 0.80
2 4,000 0.80 6000 {070 |
3 2,000 0.60 3,000 0.50 |
S—

(i) Explain sensitivity analysis with example.

(iii) Explain effect of inflation on Capital budgeting decision with example

M’Oi-lsz 6



(iv) From the following information, find out which project is more risky using
standard deviation approach. Both project require equal investment of Z 5,000,

Possible Project - X Project-Y
event Cash flow (Y) | Probability | Cash flow (?) | Probability
A 4,000 0.10 12,000 0.10
B 5,000 0.20 10,000 0.15
C 6,000 0.40 8,000 0.50
D 7,000 0.20 6,000 0.15
E 8,000 0.10 4,000 0.10
(b) State whether following statements are True or False. 4
(1) Risk adjusted discount rate is higher than risk-free discount rate.
(a) True (b) False
(2) Co-efficient of variation is an absolute measure for measuring risk.
(@) True (b) False
(3) Decision tree approach is a technique which deals with risk measurement.
(a) True (b) False
(4)  Sensitivity analysis provides a single estimate of future return from project.
(@ True (b) -False
3. (a) (i) Calculate missing figures in following table : 7 .
Particulars Division - A | Division - B | Division - C
Sales () 1,50,000 1,87,500 2,50,000
Operating Assets (3) (D 6,25,000 N
Operating Income (%) 11,250 M 25,000
ROI (%) 15 15 25
Minimum Required Rate
of Return O ™ ()
Residual Income 3,750 12,500 Nil
(i) Discuss responsibility centres. 7
. OR , . ;
(i) What is responsibility, Accounting ? Expllain its advantages and limitation. 7
(ii) Explain Residual Income Method with example. 7
(b) Choose the correct option. | 3
(1) A Company's ROI would generally increase when. '
(@) Assets increase (b) Selling Price decrease
. (¢)  Costincrease (d) Cost decrease

] LN J
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4. (a)

(b)
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(2)

)

Division K is a profit centre which produces three products L, M & N. Each
product has an external market ;

The basic purpose of responsibility accounting system is
Authority (b) Budgeting

(a)
(c)

Variance Analysis (d) Motivation

Responsibility Accounting is a part of

(a)
(b)
(c)
(d)

Global Responsibility System
Internal Reporting System
Exiernal Reporting System
Corporate Reporting System

Products L M | N
External Market Price per unit (%) 48 46 | 40
Variable cost of production in division k () 33 24" | 2B
Labour hours required per unit in division k 3 1 2

Product M can be transferred to Division. K but the maximuim guantity that might

be required for transfer is 300 units of M.

Products

L

M | N|

Maximum External sales (units)

800

500 | 300 |

14

Instcad of receiving transfer of Product M from Division K. Division J could buy

similar product in the open market ut a sli
What should be the transfer price
available in Div

(i)

OR

What is transfer pricing ? State its objectives.
(i1) Explain cost based transfer pricing.

Choose the correct option :
(1) Division under transfer pricing system is treated as profit centre.

(2)

(3)

(a)

A transfer price is considered on the basis of

True (b) False

notional value.

(a)

True (b) False

Transfer pricing is concerned with

(@)
(b)
()
(d)

Inter-organizational transfer

Intra-divisions of an organization
Both of above

None of above

actwal value rather than

ghtly cheaper price of ¥ 45 per unit.
for each units of M. if the total labour hours
ision K are ; (i) 3,800 hrs. (i1) 5,000 hours ?



